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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

øˆ¬øM√√̃ ”˘fl¡ ( Foundation ) 
ø¬ı:±Ú › õ∂ ≈̊øMê√ ( FST : Foundation Course in 

Science & Technology ) 

¸˜˚̨ – øÓ¬Ú ‚KI◊±¬ Û”Ì«̃ ±Ú – 100 

Time : 3 hours Full Marks : 100 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 250 ˙Às¬ı˛ ˜ÀÒ… 

¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 20 × 2 = 40 

 [fl¡] [’] ◊̋√√Î¬◊À¬ı˛±À¬Û ¸±˜ôLÓ¬±øLafl¡ ¸˜±ÀÊ√¬ı˛ ¬Ûø¬ı˛¬ıÓ«¬ÀÚ¬ı˛ 

Œõ∂é¬±¬ÛÈ¬ ’±À˘±‰¬Ú± fl¡À¬ı˛ ø˙äø¬ıõ≠À¬ı¬ı˛ ¸—øé¬5 

ø¬ı¬ı¬ı˛Ì ø√Ú º 

  [’±] Œ˜Ã «̊ ≈̊À· õ∂˚≈øMê√¬ı˛ Œ˚ õ∂ˆ”¬Ó¬ ø¬ıfl¡±˙ ‚ÀÈ¬øÂ√̆  

Ó¬±¬ı˛ ¸—øé¬5 ø¬ı¬ı¬ı˛Ì ø√Ú º Œfl¡±Úƒ ¢∂Lö ŒÔÀfl¡ 

’±˜¬ı˛± ¤ ◊̋√√ Ó¬Ô… ¬Û±˝◊√√ ∑ 10 + 10 

 [‡] [’] Ó¬c-’±À˘±fl¡ø¬ı√…± ¤¬ı— ’±À˘±fl¡œ˚˛ Ó¬c¬ı˛ ˜ÀÒ… 
¬Û±Ô«fl¡… fl¡œ ∑ ø‰¬øfl¡»¸±ø¬ı√…±˚˛ ’±À˘±fl¡œ˚ ̨ Ó¬c¬ı˛ 
¬ı…¬ı˝√√±À¬ı˛¬ı˛ ø¬ı¬ı¬ı˛Ì ø√Ú º ”√¬ı˛ˆ¬±¯∏ ¸—À˚±· ¶ö±¬ÛÀÚ 
Ó¬±˜±¬ı˛ Œfl¡¬ıÀ˘¬ı˛ ¬Ûø¬ı˛¬ıÀÓ«¬ ’±À˘±fl¡œ˚̨ Ó¬c 
øÚø˜«Ó¬ Œfl¡¬ıÀ˘¬ı˛ øÓ¬ÚøÈ¬ õ∂Ò±Ú ¸≈ø¬ıÒ± fl¡œ fl¡œ ∑  

  [’±] Œ¸Ã¬ı˛Ê√·ÀÓ¬¬ı˛ ¬ı‘ √̋√M√√̃  ¢∂̋ √√ Œfl¡±ÚƒøÈ¬ ∑ ¤¬ı˛ 
¬ı±Ó¬±¬ı¬ı˛Ì fl¡œ ø√À˚̨ ∆Ó¬ø¬ı˛ ∑ ¤ ◊̋√√ ¢∂À √̋√ õ∂±ÀÌ¬ı˛ 
’øô¶Q ¸y¬ı øfl¡ Ú±, Œ¸ ¸•ÛÀfl«¡ ’±¬ÛÚ±¬ı˛ 
’øˆ¬˜Ó¬ ø˘‡≈Ú º 10 + 10 

 [·] ¬[’] ¬Û‘øÔ¬ıœ¬ı˛ ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ &èQ¬Û”Ì« Î¬◊¬Û±√±Ú&ø˘ fl¡œ 
fl¡œ ∑ ¤À√¬ı˛ ˜ÀÒ… Œfl¡±ÚƒøÈ¬ÀÓ¬ õ∂±ÀÌ¬ı˛ õ∂±‰≈¬˚« Œ√‡± 
˚±˚˛ › Œfl¡Ú ∑ 

  [’±] ¬∏C±ÚøÊ√à±¬ı˛ fl¡±Àfl¡ ¬ıÀ˘ ∑ ¤fl¡øÈ¬ ¤Ú. ø¬Û. ¤Ú. 
¬∏C±ÚøÊ√à±À¬ı˛¬ı˛ Â√ø¬ı ¤“Àfl¡ ¬ı≈øÁ¡À˚̨ ø√Ú º ¤¬ı˛ ≈√øÈ¬ 
Ò˜« Î¬◊À~‡ fl¡èÚ º 10 + 10 

 [‚] ¬[’] ·Ì¸—À˚±À·¬ı˛ ˜±Ò…˜ ø˝√√̧ ±À¬ı Œ¬ı˛øÎ¬› ¤¬ı—         
¸—¬ı±√¬ÛÀS¬ı˛ ¸≈ø¬ıÒ± › ¸œ˜±¬ıXÓ¬± ’±À˘±‰¬Ú± 
fl¡èÚº ¤Â√±Î¬ˇ± ’±¬ı˛› ‰¬±¬ı˛øÈ¬ ·Ì¸—À˚±· ˜±Ò…À˜¬ı˛ 
Î¬◊À~‡ fl¡èÚ º  

  [’±] ŒÓ¬Ê√ø¶ç¡˚˛ ”√̄ ∏ÀÌ¬ı˛ Î¬◊»¸ fl¡œ ∑ ’±˜±À√¬ı˛ ¶§±À¶ö…¬ı˛ 
Î¬◊¬Û¬ı˛ ¤¬ı˛ õ∂ˆ¬±¬ı ’±À˘±‰¬Ú± fl¡èÚ º ¤ ◊̋√√ ”√̄ ∏Ì 
fl¡œˆ¬±À¬ı øÚ˚˛LaÌ fl¡¬ı˛± ¸y¬ı ∑   10 + 10 
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ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 120 ˙Às¬ı˛ ˜ÀÒ… 
¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 12 × 3 = 36 

 [fl¡] ¬[’]  ìø¸g≈ ¸ˆ¬…Ó¬± ø¬ı:±Ú › fl¡±ø¬ı·̨¬ı˛œ √é¬Ó¬±¬ı˛ ¤fl¡ 
Î¬◊2‰¬¬Û˚«±À˚˛ Î¬◊ißœÓ¬ ˝√√À˚̨øÂ√̆ ºî Î¬◊øMê√øÈ¬¬ı˛ ¸˜Ô«ÀÚ 
˚≈øMê√ ø√Ú º  

  [’±] Ó¬±¬ı˛±¬ı˛ ’±À˘±fl¡¬ıÌ«±˘œ ø¬ıÀù≠ ∏̄Ì fl¡À¬ı˛ fl¡œ fl¡œ Ó¬Ô… 
¬Û±›˚˛± ˚±˚˛ ∑ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¡èÚ º ‹ 
¬ıÌ«±˘œ ŒÔÀfl¡ fl¡œˆ¬±À¬ı Ó¬±¬ı˛±¬ı˛ ·øÓ¬ ¬Ûø¬ı˛˜±¬Û fl¡¬ı˛± 
˚±˚˛ ∑ 6  + 6  

 [‡] ¸±˜ø¬ı˛fl¡ õ∂˚≈øMê√ › Ê√±˝√√±Ê√ øÚ˜±«ÀÌ¬ı˛ fl¡±ø¬ı˛·ø¬ı˛ÀÓ¬ 
˜Ò…˚≈À·¬ı˛ ˆ¬±¬ı˛ÀÓ¬ Œ˚ ¬Ûø¬ı˛¬ıÓ«¬Ú ‚ÀÈ¬øÂ√̆  Œ¸&ø˘¬ı˛ 
ø¬ı¬ı¬ı˛Ì ø√Ú º 12 

 [·] Œ¬ı˛±·Ê√œ¬ı±Ì≈Àfl¡ fl¡˚˛øÈ¬ Œ·±á¬œÀÓ¬ ˆ¬±· fl¡¬ı˛± ˚±˚˛ ∑ 
õ∂ÀÓ¬…fl¡ Œ·±á¬œ¬ı˛ Ú±˜ ø˘‡≈Ú º ·˘± ¬ı…Ô±, fl¡À˘¬ı˛±, 
’…±ø˜ø¬ıfl¡ ’±˜±˙˚˛ › ¬ı¸ôL Œfl¡±Úƒ Œfl¡±Úƒ õ∂fl¡±À¬ı˛¬ı˛ 
Ê√œ¬ı±Ì≈ ¡Z±¬ı˛± ¸—Sê±ø˜Ó¬ ˝√√̊ ˛ ∑ õ∂ÀÓ¬…Àfl¡¬ı˛ Œ·±á¬œ Î¬◊À~‡ 
fl¡èÚ º 12 

 [‚] ŒÓ¬Ê√ø¶ç¡˚˛ fl¡±¬ı«ÀÚ¬ı˛ [  

! 

C
14] ¸± √̋√±À˚… Œfl¡±Ú Ú˜≈Ú±¬ı˛ 

fl¡±˘ øÚÌ«À˚˛¬ı˛ ¬ÛXøÓ¬ ¬ıÌ«Ú± fl¡èÚ º ¤ ◊̋√√ ¬ÛXøÓ¬ÀÓ¬ 
¤fl¡øÈ¬ Œ˘±˝√√±¬ı˛ √̋√±øÓ¬˚˛±À¬ı˛¬ı˛ ¬ı˚˛¸ øÚÌ«˚˛ fl¡¬ı˛± fl¡œ ¸y¬ı ∑ 
fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚ º 12 

 [„√√] ˆ¬±¬ı˛ÀÓ¬¬ı˛ ˜ÀÓ¬± Î¬◊iß˚̨Ú˙œ˘ Œ√À˙ ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ Î¬◊¬Û¬ı˛ 
Sê˜¬ıÒ«˜±Ú Ê√Ú¸—‡…±¬ı˛ õ∂ˆ¬±¬ı ’±À˘±‰¬Ú± fl¡èÚ º 12 

 [‰¬] fi¬ÛøÚÀ¬ıø˙fl¡ ˆ¬±¬ı˛ÀÓ¬ ∆¬ı:±øÚfl¡ ·À¬ı¯∏Ì±¬ı˛ ¸—øé¬5 
ø¬ı¬ı¬ı˛Ì ø√Ú º 12 

ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – [ Î¬◊M√√¬ı˛ 60 ˙Às¬ı˛ ˜ÀÒ… 
¸œ˜±¬ıX ¬ı˛±‡± ¬ı±>Úœ˚˛ ] 6  × 4 = 24 

 [fl¡] Œ¬ıË±? ¸ˆ¬…Ó¬±¬ı˛ ¬ÛÓ¬ÀÚ¬ı˛ fl¡±¬ı˛Ì&ø˘ ¸—Àé¬À¬Û 
’±À˘±‰¬Ú± fl¡èÚ º  6 

 [‡] ¬ı±èÀ√¬ı˛ Î¬◊æ√±¬ıÚ ø¬ı:±ÀÚ¬ı˛ ø¬ıøˆ¬iß ˙±‡±˚˛ fl¡œ Ò¬ı˛ÀÚ¬ı˛ 
ø¬ıfl¡±˙ ‚øÈ¬À˚˛øÂ√̆  ∑ ¸—Àé¬À¬Û Î¬◊M√√¬ı˛ ø√Ú º 6 

 [·] ’•°¬ı¯∏«ÀÌ¬ı˛ fl¡±¬ı˛Ì fl¡œ ∑ ’•°¬ı¯∏«Ì Î¬◊øæ√√ › õ∂±Ìœ¬ı˛ fl¡œ 
é¬øÓ¬ ¸±ÒÚ fl¡À¬ı˛ Ó¬±¬ı˛ ¬ıÌ«Ú± ø√Ú º 6 

 [‚] øÓ¬ÚøÈ¬ ’Ì≈À¬ÛÃø©Üfl¡ Î¬◊¬Û±√±ÀÚ¬ı˛ Ú±˜ Î¬◊À~‡ fl¡À¬ı˛ 

˜±Ú¬ıÀ√À √̋√ ¤À√¬ı˛ õ∂À˚˛±Ê√Úœ˚̨Ó¬± ø˘‡≈Ú º 6 

 [„√√] ’±¢∂±¸Ú ¸˝√√Ê√±Ó¬ õ∂¬ı‘øM√√¬ Ú± ’øÊ«√Ó¬ ’±‰¬¬ı˛Ì ∑ Î¬◊¬Û˚≈Mê√ 

Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚ º 6 

 [‰¬] ”√¬ı˛¸g±Ú ¬ÛXøÓ¬ fl¡±Àfl¡ ¬ıÀ˘ ∑ ¤¬ı˛ ¸±˝√√±À˚… fl¡œˆ¬±À¬ı 

‡øÚÊ√ ˆ¬±G±¬ı˛ ’Ú≈¸g±Ú fl¡¬ı˛± √̋√̊ ˛ ∑ 6 

 [Â√] ¸˜±Ê√ fl¡œˆ¬±À¬ı ø¬ı:±Ú › õ∂˚≈øMê√¬ı˛ Î¬◊ißøÓ¬Àfl¡ õ∂ˆ¬±ø¬ıÓ¬ 

fl¡À¬ı˛ ∑ ’±À˘±‰¬Ú± ¬fl¡èÚ º 6 

 [Ê√] ¸≈¬Û±¬ı˛fl¡ø•ÛÎ¬◊È¬±¬ı˛ fl¡±Àfl¡ ¬ıÀ˘ ∑ ¤øÈ¬ Œfl¡±Ô±˚˛ ¬ı…¬ı √̋√+Ó¬ 

√̋√̊  ̨∑ ¤¬ı˛ ¬ı…¬ı˝√√±¬ı˛&ø˘ Î¬◊À~‡ fl¡èÚ º 6  
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( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 
1. Answer any two questions : ( Write each 

answer within 250 words ) 20 × 2 = 40 

 A. (a) Give a brief description of the 
Industrial Revolution mentioning 
the background of the feudal 
society in Europe. 

  (b) Describe in short the remarkable 
development in technology during 
the Mauryan Age. From which book 
do we get these information ? 

     10 + 10  

 B. (a) What is the difference between the 
fibre optics and optical fibre ? 
Describe the use of optical fibre in 
medical science. Write three main 
advantages of the use of optical 
fibre cable over copper cable in 
telephone connecting line.  

  (b) What is the largest planet of solar 
system ? What is the composition 
of its outer atmosphere ? Give your 
opinion regarding the existing of life 
in this planet. 10 + 10 

 C. (a) What are the important 
constituents of the earth's 
atmosphere ? Which of them is 
suitable for living and why ?  

  (b) What is transister ? Draw and 
describe an N–P–N transistor. 
Mention two properties of it.  

     10 + 10 

 D. (a) Describe the advantage and 
limitation of radio and newspaper 
as mass communication. Mention 
four other mass communication 
media. 

  (b) What are the sources of radiation 
pollution ? Discuss its effects on 
our health. How can this pollution 
be controlled ? 10 + 10 

Group - B 

2.  Answer any three questions :  ( Write each 
answer within 120 words )  12 × 3 = 36 

 A. (a) "The Indus Civilisation reached at 
high level of efficiency in science 
and technology." Justify the 
statement. 

  (b) What information do we get by 
analysing the spectra of stars ?— 
Discuss in brief. How can the speed 
of a star be determined from the 
spectrum ? 6 + 6 
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 B. Give description of the changes in 
defence technology and ship building 
engineering during the Middle Ages in 
India. 12  

 C. In how many families are the microbes 
classified ? Write the name of each 
family. Which type of microbe does 
infect soar throat, cholera, amoebic 
dysentery and pox ? Mention the family 
of each microbe. 12  

 D. Describe the method for determining 
the age of a sample by using radioactive 

carbon (C  

! 

14 ). Explain with reason 
whether the age of an iron tool can be 
determined by this method. 12 

 E. Discuss the effects of increase in 
population on environment in 
developing countries like India. 12 

 F. Describe in brief the scientific research 
in colonial India. 12 

Group - C 

3.  Answer any four questions : ( Write each 
answer within 60 words ) 6 × 4 = 24 

 A. Discuss in brief the causes for the fall 
of Bronze civilisation. 6 

 B. What were the developments in 

different branches of science by 

invention of gunpowder ? Answer in 

brief. 6 

 C. What are the causes of acid rain ? 

Describe the harmful effects of acid rain 

on plants and animals. 6 

 D. Mention three micronutrients and write 

their usefulness in human body. 6 

 E. Is aggression a natural instinct or an 

earned habit ? Explain with suitable 

examples. 6 

 F. What is remote sensing process ? How 

are mineral resources searched by this 

process ? 6 

 G. How does society affect the 

development of science and   

technology ? Discuss. 6 

 H. What is supercomputer ? Where is it 

used ? Mention its applications. 6 
    


